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s Sefe =
FEAENGRE
T | S0 6 FRE KA Rt X FE g s T
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
s e = 1 23, 569, 763
e i =Y 1 553, 001
A T Y 1 40,014 |#mH! 130 m3
W A7 vhyb PRI BEEME 5, 000m3AH ;
2 = 1 462,534 | BEIR (BLt8) Bk - 410 m3
4. omPh Lk
AR (BL3R) Rk 1= 10 m3
2. bmATH ;
b E 1 F2V
b G- ERIRY L&)
FEIA (b=27) 1 2
+ 50, 000m3ATH ;
EHEER T Y 1 50, 453 | {EEIEETE (B i) 130 m2
TR E O M B HIFO E
AR B T Y 1 3,997, 984
[ T Y 1 3,997,984 | EIRAALFR 808 m3
(4)
WEVEEE bm i THAL 911m 3 ;
EEERT = 1 955, 304
(== Y 1 4,634
HmET =Y 1 950, 670 |7° V¥ya b LTS 27 m
15
EIR 75cm & 130cm a7 ISk T4
L
R ==l = 1 1, 364, 676
VR VAREY RN EVZA R VAR DY E <) = 1 1,113,952 |2v))=h (%) 77 ny 5k 35 m2
15
150kg ATl ;
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s Sefe =
FEAENGRE
T | S0 6 FRE KA Rt X FE g s T
= S N O A | B Az ¥ = & #A #m il N BN
RRIA - BLARS (W) 32 m3
A RC-40 ;
WA T = 1 250,724 | NLIEZ 380 m2
R [ 6D T Y 1 2, 248,990
(== Y 1 18, 540
BN =Y 1 2,011,658 |4SE5ER 122 m2
StA (EHIMERERY) BEAMT ;
W H UG EAS 122 m2
t=10 ;
oL = 1 218,792 |¥A 28 m3
50kg L b /{# ;
IR =Y 1 1,178,141
Kbt T = 1 1,178,141 | FJBEA% (FE - B 502 m2
FEIT9Y477 RC-30 AV /E 100mm ;
=8 (§E - ) 478 m2
AR AT A2 (13) &fi%EE 40mm 3. Omid ;
FIHFTE R T Y 1 2,542,518
(== Y 1 118, 440
TAT 7 S T = 1 165, 780 | T & B (BHE ) 54 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
=8 (§E - ) 54 m2
FARERIFET A2y (20) &f%EE 50mm 3. Omid ;
TAT 7 ML T = 1 280, 165 | FJE (BLiE - EIEHED) 137 m2
FARERIFET A2y (20) &f%EE 50mm 3. Omid ;
R T =Y 1 391,214 |7 V¥yANUTRIRINRE 43 m
157" VA MAlTE
Bl T Y 1 258,219 | BlAE R E (HERRER) 117 m
LS A
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THE4 | B 6 FEERAR) i & i o4 T3

= S N O A | B Az £ & F #m il N BN
FEP 80mm %% 80mm ;
IVANY SR = 1,328,700 |~/N d-p 3 T
15
600X 1200 X 400 ;
HEYE T Y 154, 787
HEYHE L T = 107,955 | EfiZERR U)W 46 m
TAT 7V MEHEERR 15emPA T
A IR A 150 m2
TAT7 MR EEERRE 15emlL T
TE LB T =Y 46, 832 | BoEM 8 m3
TAT7IV NS
RISy 8 m3
TAT7IV NS
A Y 10, 574, 362
8 REEY) T = 9, 060, 692
KET =Y 205, 520
VEZEY-1 i T Y 398, 550
VE#IE 1k T Y 909, 600
[ERAE Xy = 23, 569, 763
HiE = 7,786, 684
BISTI S = 5,437, 684
TE = 5,120, 384 | B R AAR ) AR T B 5 B 1 =
IR A T 1 =
VESERYEE 2 O 1 =
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R PERE
THEL | A6 FEE I i X i A T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
EsZREgiis ¢ 2V 1 7,300 | /Sl o bV HIERER 1 A
BUGBREIUEL (REH L) 2V 1 310, 000
sty (R L) 2V 1 2, 349, 000
ol T 2V 1 31, 356, 447
e R E20 1 10, 658, 000
T AT 2V 1 48, 395, 919
— e PR E20 1 8, 874, 081
N E20 1 57, 270, 000
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THE4 | B 6 FEERAR) i & i o4 T3

TEHX4y « Tfd - FER B Az £ & F #m il BN
JE O R = 3, 840, 472
EHET = 2,252, 692
A T Y 369, 360 | #HH! 1, 200 m3
W A7 vhyb PRI BEEME 5, 000m3AH ;
BET =Y 54,912 |FE LKL+ 430 m3
- 10 m3
AL T =Y 1, 828, 420
Ak T Y 491, 106
ELEYE(E T Y 39, 161 | RNREFEIE 221 m2
WRMA Y R ETREMA M-30 9mmPA b 13mmAe
i
TA7 7 M2 T = 451,945 | B (BE - BKEE) 221 m2
FRAE BRI BT A2/ (20) AF2EE 50mm 3. OmiZ ;
B E T = 30, 114
X R T = 10,312 |~ VbR EHR 75 m
N AN AR R A 15em HIEL
ik T = 19,802 | fHARFAEAR 4 N
(W fh)
T ARESA TOASRM ;
KO 1 EAT
(Wi i)
HEYE T Y 917, 760
HEYHE L T Y 485, 896 | EHALRIYIMT 24 m
TAT 7V MEHEERR 15emPA T
A IR A 890 m2
TAT7 MR BEERRE 15emlLF
KA+ 5 kT Y 139,440 | KA+ 5 ik 70 1%
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== /oA =
FEAENRE
T | S0 6 FRE KA Rt X FE g s T
TEHX4y « Tfd - FER B Az W B & #A i il A BN
TE LB T =Y 1 292, 424 | BoEM 44 m3
TAT7IV NS
RISy 44 m3
TAT7IV NS
rGan Y 1 148, 800
B EHT = 1 148, 800
[ERAE Xy = 1 3, 840, 472
HiE 2 2 1 552, 000
BISTIGE: = 1 69, 000
BGRESGESE (5 L) = 1 69, 000
B (FEHL) = 1 483, 000
T = 1 4,392, 472
Bl gy 2 1 1, 989, 000
T =5l = 1 6, 381, 472
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